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Why IgE has an extra domain in its structure?
a. Question is wrong

b. Because of extra amino acids
<. Because of an extra f sheels

d. Because of intrachain disulphide bond
Secretory component in IgA is derived from a pathway called:

a. Opsonization b. Receptor mediated endocytosis

c. ADCC d. Phagocytosis

Which of the following does not explain antibody structure?

a. 2 pleated sheels with antiparallel p b, Variable domain of 110 amino acids

strands

¢. Domain stabilized by intrachain d. Hydrophobic bonds inside the
disulphide linkage antibody structure

Properdin increases the half-life of:

a. C5b6 b. C4b2b

c. C3bBb d. C3bBb3b

C5 convertase initiales:

a. Opsonization b. Viral neutralization

¢. Smooth muscle contraction d. MAC formation

Which of the following does not explain prozone effect?

a. Antibodies which cannot bind 1o b. Antibodies which are univalent
anligens

c. Antibodies which are more than d. Antigens which are polyvalent
antigens

How results are analysed in immunoelectrophoresis?

a. Presence or absence of absence of b. Presence or absence of absence of
antibodies antigens

¢. Analysis of precipilation arcs d. Noie of the above

Reason for less duration needed for grafl rejection in sec ondary response is due to:

a. Production of memory cells during, b. Necrosis taking place in a single day
primary response

¢. No vascularization d. Vascularization occurring in a single
day

How C5b of complement activation is involved in type opsonization?

a. Upregulation of CR b. Increase in the generation of C3b
c. Downregulation of CR d. Increase production of Abs

Which of the following antigens - TSTA or TATA belong to a normal cell at a particular
slage of development?

a. Tumor cell b. Fetal cell
c. Adultcell d. All of the above

2 USTM/COE/R-01



(Deseriptive ]

Time ; 2 hr. 30 mins,

[ Answer question no,1 & any four (4) from the rest |

What is the meaning of the term “attenuation” and what is the
significance of the term in the field of vaccination? Explain how the
mucus membranes of our body protect us from invading microbes.
What is the role of memory cells in vaccination? Give reason for vour
answer. Expand non specificity of adaptive immunity. What is the role
of chemical mediators during inflammatory msponsos?

Explain the mechanism of protection to invading microbes by our
intestine with a neat diagram. What is the mechanism of neutralization
of infeclion in spleen? Explain the process and give the importance of
germinal center in the process. What are the similarities in action
between macrophages and neutrophils? Justify your answer, Wrile in
brief the activity of an active dendritic cell.

Explain the structure of antibodies with help of IgG and wrile about its
function. An individual was transtused for the first time with blood A
when his blood type was B leading, lo its immediate rejection. Explain
how an immediate response occurred. Explain how preformed
antibodies against blood group antigens are produced inan individual.
[ow is hematopoiesis Ieading to formation of blood is regulated?
Lxplain the activity of an active dendritic cell.

Explain how to increase the immunogenicity of hCG hormone. How
maternal antibodies give protection to the fetus? Explain it in your own
language. What was the use ol discovery of multiple myeloma in
antibody sequencing? What are the findings of IH-chain sequencing,?
Give reasons why some vaccines use adjuvants. According Lo you
which class of MHC is important to activale immune response? Justify
VOUr answer,

Explain the structure of MHC IT molecules with a neat diagram. What
is the importance of expression of class 1 MITC molecules during an
immune response against virus infection? What determines the
strength of antigen-antibody interaction? Justify your answer. Is there
any use of immune response in detection of pregnancy using, home
pregnancy test kit? Give your justification. Interpret the precipitation
curve with a diagram.

What is the importance of alternative pathway of complement
activation? Explain the mechanism. Is there any relation between SLE
and C3b? Justify your answer. Explain the use of C5 converlase in
climinating bacterial cells. Can u suggest two therapies to prevent
rejection of grafts after transplantation? What is the difference between
TATA and TSTA?

Marks : Si]

24342+ 1+2=10

2+44242=10

3424241 +2=10

2+1 41424242

=10

342+ 1 +2+2=1()

USTM/COE/R-01






